



OFFICE OF THE CITY MANAGER



TO: Honorable Mayor and Members of the City Council
FROM: Patrick Urich, City Manager *Patrick Urich*
DATE: July 10, 2015
SUBJECT: Issues Update

The following are issues related to the City for the weekly Issues Update. If there are additional items you believe should be included, please let me know.

City Manager's Office

Peoria RiverFront Market

The Peoria Riverfront Market will return to Water Street this week. Please see the attached press release for more information regarding street closures, parking and featured events at this week's market.

Community Development- Community Housing Development Organization (CHDO) Event

On May 12, 2015, City Council approved \$300,000 in Federal HOME funds to Habitat for Humanity for the construction of three (3) new, affordable, single-family, owner-occupied homes to be located at 1833 N. Atlantic, 1915 N. Delaware and 900/902 E. Nebraska (Council District 3).

Habitat for Humanity is a certified Community Housing Development Organization (CHDO) under the City's HOME grant. The agency's CHDO designation is specifically focused on creating affordable housing for low-income families.

A ground breaking ceremony for Habitat's first 2015 CHDO homes will be Saturday, July 11th at 10 AM at the 1833 N. Atlantic build site.

The ground breaking ceremony is to commence the build and welcome the selected Habitat family to the neighborhood.

For more information, please contact Nicole Frederick, Grants Manager, at 309-494-8606 or nfrederick@peoriagov.org.

ECONOMIC DEVELOPMENT---- Greater Peoria Selected for Manufacturing Designation

U.S. Secretary of Commerce Penny Pritzker announced Great Peoria is one of 12 new communities that have received designations under the Obama Administration’s Investing in Manufacturing Communities Partnership (IMCP) initiative. Communities were selected by an interagency panel, based on the strength of their economic development plans, the potential for impact in their communities, and the depths of their partnerships across the public and private sectors to carry out their plans. The 12 designated Manufacturing Communities will receive coordinated support for their strategies from eleven federal agencies with more than \$1 billion available in federal economic development assistance.

Public Works Streetscape Public Workshop #1 Held on July 8

The Department of Public Works, with staff members of the Office of James Burnette, held the first public meeting to garner public feedback regarding the Peoria Streetscape Master Plan. Over 50 people were in attendance. Attendees participated in brainstorming, sharing ideas and walking the downtown area. Materials from this session may be found:

<http://www.peoriagov.org/public-works/>



Who is Working Behind That Door? Emergency Management

This week's edition of "Who Is Working Behind That Door" features the office of Emergency Management.



You do NOT want to miss this two part episode, featuring Dwain Deppolder.

www.facebook.com/peoriail

Code Violation Cases

The list of code violation cases scheduled for July 14 is attached.

ECC Monthly Report

Please see the attached monthly report for June.

Historic Preservation Commission

Notice of cancellation for July 22 meeting. See attached.

Housing Court Cases

The list of code violation cases scheduled for July 14 is attached.

Site Plan Review Board Agenda

Please see the attached agenda. Comments are due July 13.

Planning & Zoning Commission Agenda

Please see the attached agenda for the August 6 meeting.



City of Peoria City Manager's Office



Peoria RiverFront Returns to Water Street

FOR IMMEDIATE RELEASE:

Peoria (07/9/15) –After spending the last two Saturdays at a temporary location, the Peoria RiverFront Market returns to Water Street this Saturday.

The City of Peoria will be closing off Water Street to traffic from Harrison to the entrance of the Peoria Riverfront Museum & Caterpillar Visitor Center parking deck to accommodate the popular weekly market. Access to the Peoria Riverfront Museum & Caterpillar Visitor Center parking deck will only be accessible on Water Street if you are coming from Main Street. Additional parking will be available in the 401 Water Street Parking Deck and the Liberty Parking lot, both only accessible from Harrison Street. Additional on-street parking is also available. Water Street will reopen after the market concludes at noon.

In addition to the many artists and produce vendors that regularly sell at the market, visitors will be able to enjoy live music by Random Strangers, a recipe demonstration, performances by the Peoria Magicians Assembly, Master Gardeners and a yoga demonstration at 10 am from Heading OM. The hours of the Peoria RiverFront Market are from 8:00 a.m.-12:00 p.m.

For information about the RiverFront Market, please visit www.peoriariverfront.com or their facebook page.

For updates involving city issues, please visit www.peoriagov.org or the city's facebook page (www.facebook.com/peoriail) or follow the city Twitter feed (@CityofPeoria_IL)

###

NUMBER OF CASES 136

PAID	LEGAL CASE	ONESOLUTION NO	DEFENDANT	PROPERTY ADDRESS	PRE-HEARING FINE AMOUNT	INSPECTOR	DISPOSITION
	15-CV-0946	15-5768	AGUILAR, RENE	914 NE MONROE ST	\$50	AE	
	15-CV-0971	15-5783	ALEXANDER, KAMILLIA	1420 NE MONROE ST	\$50	AE	
	15-CV-1187	15-6885	ALMUWALLAD, AHMED	619 MORGAN ST	\$150	BB	
	15-CV-0977	15-5875	ALWAN, HENRI	1324 N BROADWAY ST	\$100	LE	
	15-CV-0985	15-5964	ANDRADA, WILMER	3900 N PROSPECT RD	\$150	PM	
	15-CV-0884	15-5715	BANKS, MICHAEL E.	2919 W STARR ST	\$100	SCA	
	15-CV-1098	15-6403	BECKER, OLIVER	1918 N NORTH ST	\$50	LA	
	15-CV-0883	15-5714	BECKMAN, JEANETTE	715 S SHELLEY ST	\$150	SCA	
	15-CV-1202	15-6971	BEHM, TIMOTHY & CATHERINE	2111 N PROSPECT RD	\$150	BB	
X	15-CV-1109	15-6133	BELLAMY, KATHY	1819 N WISCONSIN AVE	\$50	TA	DISMISSED - PAID ON 7/2/15
	15-CV-1186	15-6877	BENEFICIAL FINANCIAL INC.	3421 N ROCKWOOD RD	\$150	BB	
X	15-CV-1099	15-6023	CALDWELL, GERALD	1922 N NORTH ST	\$50	LA	DISMISSED - PAID ON 6/29/15
	15-CV-1020	15-3618	CARLYLE, VICKIE	1419 W HOWETT ST	\$150	GW	
	15-CV-1197	15-6965	CFG PROPERTIES OF DECATUR LLC	712 E REPUBLIC ST	\$150	BB	
	15-CV-0984	15-5357	COHEN, JEFF	202 VAN BUREN ST	\$50	AE	
	15-CV-0998	15-5844	CONSOLIDATED PROPERTIES	1106 E KANSAS ST	\$100	PM	
	15-CV-0999	15-6056	CONSOLIDATED PROPERTIES	1203 E MCCLURE AVE	\$50	PM	
	15-CV-0945	15-5766	CONSOLIDATED PROPERTIES LLC	1421 NE MADISON AVE	\$50	AE	
	15-CV-0982	15-5876	CONSOLIDATED PROPERTIES LLC	2303 NE MADISON AVE	\$50	AE	
	15-CV-0981	15-5869	COOK, MICHAEL	3007 NE ADAMS ST	\$50	AE	DISMISSED - OWNER IS D/CSD
	15-CV-0992	15-6007	DELLINGER, JANE	1508 NE GLENDALE AVE	\$50	AE	
X	15-CV-0944	15-5774	ELDERZI, GEORGE	1419 W MAIN ST	\$50	LE	DISMISSED - PAID ON 6/8/15
	15-CV-0935	15-5742	ENDRES, MICHAEL	1012 E RICHWOODS BLVD	\$50	PM	
X	15-CV-0943	15-5776	FLINN, SUSAN	1709 W CALLENDER AVE	\$50	LE	DISMISSED - PAID ON 6/17/15
	15-CV-1198	15-6966	FLOYD J. RASHID PENSION PLAN	702 E NEBRASKA AVE	\$150	BB	
	15-CV-0988	15-5042	FRAKES, KIMBERLY	1216 E WILLCOX AVE	\$50	PM	
	15-CV-0933	15-5756	GOIN, MALINDA	4240 N KEENLAND AVE	\$50	DG	DISMISSED - RESPONDENT NOT THE OWNER
	15-CV-1177	15-2644	GOODALE, MICHAEL	2517 W WARDCLIFFE DR	\$300	NR	
	15-CV-0733	15-5025	GREEN DIAMOND APARTMENTS	6516 N UNIVERSITY ST	\$150	BB	1ST APPEARANCE - 6/23/15; 1ST APPEARANCE CONTINUED TO 7/14/15
	15-CV-1021	15-6063	GREEN, VERN	1205 E MCCLURE AVE	\$50	PM	DISMISSED - UNABLE TO GET NOTICE OF VIOLATION AND HEARING SERVED
	15-CV-0955	15-5835	GUELKER, PATRICIA	2626 N SPRINGDALE AVE	\$100	PM	
	15-CV-0974	15-5877	GUERRERO, JOSE	2141 N CENTRAL AVE	\$250	PM	
	15-CV-1191	15-6948	HAMM, THOMAS & JENNIFER	2402 N MARYLAND ST	\$150	BB	
	15-CV-1185	15-6880	HASTE, DAVID	2015 W GARDEN ST	\$150	BB	
	15-CV-1103	15-6129	HEALD, STEPHEN	2712 N MISSOURI AVE	\$50	LA	
	15-CV-0979	15-5882	HEIM, ROGER	1208 N FRINK ST	\$50	LE	
X	15-CV-0986	15-5899	HERRERRA, RUBEN	2508 N WISCONSIN AVE	\$50	PM	DISMISSED - PAID ON 7/2/15
	15-CV-0916	15-5523	HIGBEE, MARY	2402 N ELLIS ST	\$50	DG	DISMISSED - UNABLE TO GET NOTICE OF VIOLATION AND HEARING SERVED
	15-CV-0936	15-5790	HIGHTOWER, EDWARD	1118 E WILSON AVE	\$50	PM	DISMISSED - PER PATTI ON 6/8/15
X	15-CV-0939	15-5796	HODGE, PAUL	1209 W MOSS AVE	\$50	LE	DISMISSED - PAID ON 6/23/15
	15-CV-1022	15-6065	HODGES, ARLENA	1207 E MCCLURE AVE	\$100	PM	
	15-CV-0948	15-5791	HOPPING, AMANDA	612 MORTON ST	\$50	AE	
	15-CV-1216	15-6981	HOWARD, DEMACEO	9210 N FRYE RD	\$100	KS	
	15-CV-1104	15-6197	HOWELER, JUSTIN	2223 - 2225 N FLORA AVE	\$50	LA	
	15-CV-1188	15-6886	INGERSOLL, SUE	1107 E GIFT AVE	\$150	BB	
X	15-CV-1084	15-6390	JONES, LINDA	1612 N NEW YORK AVE	\$50	TA	DISMISSED - PAID ON 6/24/15
X	15-CV-1087	15-6468	JOSHUA TREE HOLDINGS LLC	721 E ILLINOIS AVE	\$50	TA	DISMISSED - PAID ON 6/16/15
	15-CV-1200	15-6969	JPC PROPERTIES LLC	721 E KANSAS ST	\$150	BB	
X	15-CV-1058	15-6246	KENNEL, LES	1020 E MCCLURE AVE	\$50	TA	DISMISSED - PAID ON 7/2/15
	15-CV-1097	15-6399	KHAN, MOHAMMED	1916 N NORTH ST	\$50	LA	
	15-CV-1083	15-6360	KUCHINSKY, DAVID	2410 N MISSOURI AVE	\$50	TA	
	15-CV-0505	15-2880	LACH, ROBERT	606 HOMESTEAD AVE	\$300	NR	1ST APPEARANCE - 6/9/15; REVIEW 6/23/15; REVIEW - 7/14/15
	15-CV-0972	15-5764	LEAR, ARACELI	3532 NE MONROE ST	\$50	AE	
X	15-CV-1018	15-6054	LEMAN, MARK	1826 W BUTLER ST	\$100	SCA	DISMISSED - PAID ON 7/6/15
	15-CV-0995	15-3978	LINEHAN, KIMBERLY	1332 E HILLCREST PL	\$50	PM	DISMISSED - RESPONDENT NOT THE OWNER

	15-CV-0949	15-5797	LOGSDON, SHANNON	2305 NE MADISON AVE	\$50	AE	
	15-CV-1201	15-6970	LONGMIRE, JOHN	719 E BEHREND'S AVE	\$150	BB	
	15-CV-0950	15-5807	LUCAS, DONALD	P.I.N. 14-35-104-018	\$50	AE	
	15-CV-0847	15-5516	MACIAS, LILIAN	1209 E MAYWOOD AVE	\$50	PM	DEFAULT - 7/7/15 \$100; MOTION TO VACATE - 7/14/15
	15-CV-0934	15-5682	MCCLAIN, TIA	1205 E FORREST HILL AVE	\$50	PM	
	15-CV-0942	15-5780	MCNAMARA, JOAN	1717 W CALLENDER AVE	\$100	LE	
X	15-CV-0983	15-5366	MEIER, DEBORAH	2209 NE JEFFERSON AVE	\$50	AE	DISMISSED - PAID ON 7/6/15
	15-CV-1196	15-6963	MINA, ADEL	1902 N CALIFORNIA AVE	\$150	BB	
X	15-CV-1086	15-6472	MINA, ADEL	717 E BEL AIRE CT	\$50	TA	DISMISSED - PAID ON 6/18/15
X	15-CV-0953	15-5823	MONGE, CYNTHIA	1109 E KANSAS ST	\$50	PM	DISMISSED - PAID ON 6/17/15
	15-CV-1190	15-6888	MONTGOMERY, CALVIN	1418 NE MADISON AVE	\$150	BB	
	15-CV-0975	15-5887	MORRIS, MICHAEL	2311 N ATLANTIC AVE	\$100	PM	
	15-CV-0917	15-5418	MORRISON, LEOLA	715 W RICHMOND AVE	\$50	DG	DISMISSED - OWNER IS D/CSD
X	15-CV-1044	15-6185	MP II LLC	1800 N KNOXVILLE AVE	\$50	TA	DISMISSED - PAID ON 6/18/15
	15-CV-0991	15-6004	MURILLO, MARIA	1516 NE GLENDALE AVE	\$50	AE	
	15-CV-1192	15-6953	NATH, SYLVIA T.	701 E ARCADIA AVE	\$150	BB	
	15-CV-0973	15-5861	NEW BEGINNINGS MINISTRIES	1902 - 1908 N WISCONSIN AVE	\$50	PM	
	15-CV-0899	15-5639	PARKER, GARY	807 W VIRGINIA AVE	\$50	DG	
	15-CV-0719	15-4899	PAVER, WESLEY AND LORRY	1419 NE GLENDALE AVE	\$100	PM	1ST APPEARANCE - 6/23/15; 1ST APPEARANCE CONTINUED TO 7/14/15
	15-CV-0866	15-5398	PEORIA HOUSING AUTHORITY	903 W MILLMAN ST	\$50	AE	1ST APPEARANCE 7/7/15; REVIEW 7/14/15
	15-CV-0867	15-5397	PEORIA HOUSING AUTHORITY	913 W MILLMAN ST	\$50	AE	1ST APPEARANCE 7/7/15; REVIEW 7/14/15
	15-CV-0868	15-5396	PEORIA HOUSING AUTHORITY	915 W MILLMAN ST	\$50	AE	1ST APPEARANCE 7/7/15; REVIEW 7/14/15
	15-CV-0869	15-5393	PEORIA HOUSING AUTHORITY	934 W MILLMAN ST	\$50	AE	1ST APPEARANCE 7/7/15; REVIEW 7/14/15
	15-CV-0870	15-5390	PEORIA HOUSING AUTHORITY	930 W MILLMAN ST	\$50	AE	1ST APPEARANCE 7/7/15; REVIEW 7/14/15
	15-CV-0871	15-5389	PEORIA HOUSING AUTHORITY	926 W MILLMAN ST	\$50	AE	1ST APPEARANCE 7/7/15; REVIEW 7/14/15
	15-CV-0872	15-5387	PEORIA HOUSING AUTHORITY	924 W MILLMAN ST	\$50	AE	1ST APPEARANCE - 7/7/15; REVIEW 7/14/15
	15-CV-0873	15-5386	PEORIA HOUSING AUTHORITY	920 W MILLMAN ST	\$50	AE	1ST APPEARANCE - 7/7/15; REVIEW 7/14/15
	15-CV-0874	15-5384	PEORIA HOUSING AUTHORITY	511 S MACARTHUR HWY	\$50	AE	1ST APPEARANCE - 7/7/15; REVIEW - 7/14/15
	15-CV-1199	15-6967	PEORIA OPPORTUNITIES FOUNDATION	1611 N WISCONSIN AVE	\$150	BB	
	15-CV-1204	15-6973	PIERCE, JEFFREY & MELINDA	1205 NE MADISON AVE	\$150	BB	
X	15-CV-1111	15-6522	PIERSON, RUTH	310 E ARCHER AVE	\$50	TA	DISMISSED - PAID ON 6/19/15
	15-CV-0954	15-5826	POEPEL, KELLY	1201 E MELBOURNE AVE	\$50	PM	
	15-CV-1071	15-6364	POEPEL, KELLY	1201 E MELBOURNE AVE	\$100	PM	
	15-CV-0941	15-5795	POPP, SHANNON	1809 W FREDONIA AVE	\$50	LE	
	15-CV-1025	15-5565	PORTILLO, JORGE	1201 W MILLMAN ST	\$50	GW	
	15-CV-1176	15-2608	R&W APARTMENTS	2511 WARDCLIFFE DR	\$300	NR	
X	15-CV-0997	15-5849	RASHID, FLOYD J.	7417 N KNOXVILLE AVE	\$50	DG	DISMISSED - PAID ON 6/22/15
	15-CV-1232	15-6669	RENNAU, LISA	911 W PURTSCHER DR	\$300	NR	DISMISSED - PER NICK ON 6/26/15
X	15-CV-1045	15-6209	RIDGE, RICKEY	511 E REPUBLIC ST	\$50	TA	DISMISSED - PAID ON 6/22/15
	15-CV-1081	15-6355	RODGERS, BRENNEN	507 E ARCHER AVE	\$50	TA	
	15-CV-1184	15-6974	ROSALES, JOSE; CARERRA, OLIVIA	949 NE GLEN OAK AVE	\$150	BB	
	15-CV-1142	15-6701	ROTRAMEL, CYNTHIA	2901 W MEIDROTH ST	\$100	KS	
	15-CV-0794	15-5152	ROYER, SHARON	603 E ARCADIA AVE	\$50	TA	1ST APPEARANCE - 6/23/15; 1ST APPEARANCE CONTINUED TO 7/14/15
	15-CV-1019	15-6095	RUIZ, GABRIEL	410 LA VAILLE ST	\$50	AE	
	15-CV-1082	15-6351	RUSSELL, ERNEST	415 E ARCHER AVE	\$50	TA	
	15-CV-1100	15-6405	RV HOLDINGS SEVEN LLC	2000 N NORTH ST	\$50	LA	
	15-CV-1175	15-2669	SAM PROPERTY GROUP	2605 W WARDCLIFFE DR	\$600	NR	
X	15-CV-0947	15-5788	SAM PROPERTY GROUP LLC	614 MORTON ST	\$50	AE	DISMISSED - PAID ON 7/6/15
	15-CV-0951	15-5825	SANDS, MARGARET	1504 NE PERRY AVE	\$50	AE	DISMISSED - UNABLE TO GET NOTICE OF VIOLATION AND HEARING SERVED
	15-CV-0042	15-321	SANEIDAN, SALEM	3034 N WISCONSIN AVE	\$300	NR	
	15-CV-0978	15-5878	SCHUPP, STANLEY	1404 N BESTOR ST	\$100	LE	
	15-CV-1085	15-6402	SHOUMAKER, JEFF	619 E THRUSH AVE	\$50	TA	
	15-CV-0898	15-5640	SIMONSEN, SCOTT	710 W VIRGINIA AVE	\$50	DG	
	15-CV-1183	15-6881	SINGER, DALE	2402 W MARKS PL	\$150	BB	
	15-CV-0976	15-5896	SMITH, BRUCE AND DIANE	2414 N WISCONSIN AVE	\$100	PM	
	15-CV-1056	15-5374	SPATES, RALPH	1207 W HURLBURT ST	\$50	GW	

	15-CV-1110	15-6550	STORTZ, DAVID	321 E ARCADIA AVE	\$50	TA	
	15-CV-0994	15-3954	TAYLOR, JAMES	1315 E NEBRASKA AVE	\$50	PM	
	15-CV-1195	15-6959	TCO PROPERTIES LLC	2131 N DELAWARE ST	\$150	BB	
	15-CV-0987	15-4995	TERRELL, TWILA	1100 E GIFT AVE	\$100	PM	
	15-CV-0952	15-5787	THOMAS, ETTA	1815 W CALLENDER AVE	\$50	LE	
	15-CV-1194	15-6956	TJH INVESTMENTS LLC	119 E THRUSH AVE	\$150	BB	
	15-CV-0938	15-5770	TONGATE, TY	1509 W MAIN ST	\$50	LE	
X	15-CV-0980	15-5789	TRENTON BRIDGE LLC	1705 - 1707 W FREDONIA AVE	\$50	LE	DISMISSED - PAID ON 6/15/15
	15-CV-1193	15-6950	TYRYN LLC	612 E THRUSH AVE	\$150	BB	
	15-CV-0940	15-5792	WALGENBACH/LAWLOR PROPERTIES TWO	1715 W FREDONIA AVE	\$50	LE	
	15-CV-1189	15-6883	WALTERS, CURTIS	1108 W JOHN H GWYNN JR AVE	\$150	BB	
	15-CV-0937	15-5793	WALTON, MICHAEL	1102 E NEBRASKA AVE	\$50	PM	DISMISSED - UNABLE TO GET NOTICE OF VIOLATION AND HEARING SERVED
X	15-CV-1205	15-6975	WELLS, MARC J.	1106 E MELBOURNE AVE	\$150	BB	DISMISSED - PAID ON 7/6/15
X	15-CV-1030	15-6183	WIEBLER, SUSAN	701 FAIRHOLM AVE	\$50	AE	DISMISSED - PAID ON 6/26/15
X	15-CV-0882	15-5713	WIEBLER, SUSAN	2101 W LINCOLN AVE	\$150	SCA	DISMISSED - PAID ON 6/10/15
	15-CV-1203	15-6972	WOLF, THOMAS	5327 N ISABELL AVE	\$150	BB	

93 - 1ST APPEARANCE
10 - REVIEW
1 - MOTION TO VACATE
22 - PAID
10 - DISMISSED

**Emergency
Communications
Center**



**Monthly Report
June 2015**

**Peoria
9-1-1**

CITY OF PEORIA
EMERGENCY COMMUNICATIONS CENTER 2015 ANNUAL REPORT

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	TOTAL	2014 Totals
Landbased 9-1-1 Calls	2,326	2,036	2,386	2,318	2,442	2,449							13,957	27,714
Wireless 9-1-1 Calls	6,822	5,837	6,516	6,475	7,591	7,808							41,049	76,573
TOTAL 9-1-1 CALLS	9,148	7,873	8,902	8,793	10,033	10,257	0	0	0	0	0	0	55,006	104,287
Peoria Police Incoming Calls	7,072	6,425	7,428	7,501	8,427	9,083							45,936	93,002
Sheriff's Police Incoming Calls	2,486	2,274	2,417	2,725	2,864	3,025							15,791	32,833
TOTAL POLICE INCOMING CALLS	9,558	8,699	9,845	10,226	11,291	12,108	0	0	0	0	0	0	61,727	125,835
Volunteer Fire/EMS toll free calls	20	13	27	37	28	24							149	414
Peoria Fire Incoming Calls	615	458	578	716	732	774							3,873	8,731
TOTAL FIRE INCOMING CALLS	635	471	605	753	760	798	0	0	0	0	0	0	4,022	9,145
Operator Assist Calls/Alarm Calls	828	771	765	892	1,025	983							5,264	10,763
Ambulance Incoming Calls	321	271	252	252	235	237							1,568	2,531
ECC Supervisor Incoming Calls	790	764	824	915	951	1,094							5,338	9,794
Richwoods Dispatcher Incoming Calls	82	73	77	95	109	100							536	985
Downtown Dispatcher Incoming Calls	58	51	65	69	57	58							358	733
Prep 2 Dispatcher Incoming Calls	615	582	581	681	701	747							3,907	8,298
C-MED Dispatcher Incoming Calls	52	29	32	42	34	59							248	458
County Sheriff Dispatcher Incoming Calls	40	46	27	37	45	47							242	524
Fire Dispatcher Incoming Calls	90	51	73	85	89	97							485	1,020
OverFlow Dispatcher Incoming Calls	20	15	10	9	6	10							70	113
Call Taker Incoming Calls	0	3	0	0	1	5							9	12
TOTAL INCOMING EXTENSION CALLS	1,747	1,614	1,689	1,933	1,993	2,217	0	0	0	0	0	0	11,193	21,937
TOTAL OUTGOING EXTENSION CALLS	5,291	5,141	5,626	5,402	6,002	6,477							33,939	67,135
Peoria Police Dispatches/On view	7,686	6,794	7,682	8,421	9,295	10,065							49,943	101,724
Peoria County Sheriff Dispatches/On view	2,683	2,350	2,575	2,717	3,021	2,976							16,322	29,166
TOTAL POLICE DISPATCHES/ON VIEW	10,369	9,144	10,257	11,138	12,316	13,041	0	0	0	0	0	0	66,265	130,890
Air National Guard Fire Dispatches	8	5	4	1	1	6							25	71
Akron-Princeville Fire Dispatches	19	14	24	28	5	19							109	231
Brimfield Fire Dispatches	46	23	26	27	30	27							179	378
Dunlap Fire Dispatches	38	27	35	55	32	30							217	373
Elmwood Fire Dispatches	13	12	10	11	10	8							64	142
Limestone Fire Dispatches	117	117	111	111	100	101							657	1,357
Logan-Trivoli Fire Dispatches	44	38	42	38	42	45							249	443
Peoria Fire Dispatches	1,613	1,424	1,546	1,571	1,665	1,667							9,486	18,637
Timber-Hollis Fire Dispatches	32	22	37	27	19	34							171	345
Tuscarora Fire Dispatches	1	3	9	6	4	4							27	48
West Peoria Fire Dispatches	44	43	46	45	45	50							273	547
MABAS Fire Calls	1	3	8	8	1	1							22	41
MABAS EMS Calls	0	0	0	0	0	0							0	0
TOTAL FIRE DISPATCHES	1,976	1,731	1,898	1,928	1,954	1,992	0	0	0	0	0	0	11,479	22,613
AMT Ambulance Dispatches	1,130	945	1,108	1,059	1,065	1,071							6,378	14,975
APA Ambulance Dispatches	15	14	14	15	5	15							78	169
BYE Ambulance Dispatches	73	37	32	31	39	30							242	479
TOTAL AMBULANCE DISPATCHES	1,218	996	1,154	1,105	1,109	1,116	0	0	0	0	0	0	6,698	15,623
Peoria County Coroner Incoming Calls	166	175	230	178	231	237							1,217	2,190
Community Messaging System Call-outs	15	15	9	20	27	20							106	250
Telephone Trouble Reports Completed	0	0	0	4	2	1							7	5
ETSB Equipment Trouble Reported	5	8	9	6	5	7							40	70
Citizen Concerns	1	3	0	2	3	1							10	40
CD Requests from State's Attorney's Office	7	11	12	5	5	5							45	57
CD Requests from FOI / Subpoena	4	6	10	1	1	6							28	78
CD Requests from Inner Departmental	9	7	8	7	10	5							46	78
Total Number of CD Requests	20	24	30	13	16	16	0	0	0	0	0	0	119	213
ILEAS Call Outs	0	0	0	0	0	0							0	4
JULIE Dig	121	40	85	32	34	25							337	822

Yearly Summary

	Number of Calls	Dispatch Response Time	Police Response Time	Total Time	
PEORIA POLICE					
Urgent	16466	1.19	3.93	4.89	
Routine	15882	10.35	5.63	17.09	
Backlog	3831	22.24	7.20	29.45	
PEORIA COUNTY SHERIFF					
Urgent	2624	1.71	6.55	7.70	
Routine	3547	9.69	8.94	18.63	
Backlog	257	33.07	11.15	44.23	
	Number of Calls	Dispatch Response Time	Fire Response Time	Total Time	Average Turnout Time
PEORIA FIRE	9404	0.76	4.36	5.12	1.52

City of Peoria
Emergency Communications Center

Police Department
Urgent Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average		
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19						
January 2015	Number of Calls	90	110	374	183	39	217	111	128	321	230	202	72	74	219	6	113	110	2599			(total min/total calls)		
	Exceptions																		0					
	Dispatch Response Time	1.5	0.8	1.2	1.4	0.8	2.8	0.7	2.0	2.7	2.0	1.4	0.9	1.4	1.3	0.6	1.1	1.7	4278.0	2599	1.65			
	Police Response Time	2.6	3.6	3.0	2.9	2.7	2.9	4.7	3.9	7.8	3.8	4.9	4.3	4.5	6.0	13.2	4.3	6.7	11664.5	2599	4.49			
	Total time	4.1	4.4	4.2	4.3	3.5	5.4	5.9	10.5	5.8	6.3	5.2	5.9	7.3	13.8	5.4	8.4	15942.5	2599	6.13				
February 2015	Number of Calls	77	112	288	125	42	147	92	129	230	191	141	65	56	176	13	123	76	2083			(total min/total calls)		
	Exceptions																		0					
	Dispatch Response Time	0.7	0.6	0.7	0.7	0.6	1.3	0.8	1.5	0.8	1.0	1.7	1.2	1.0	1.0	0.6	1.0	1.4	2055.5	2083	0.99			
	Police Response Time	2.9	3.5	2.9	3.2	3.5	2.8	4.6	3.4	3.8	3.6	4.1	4.5	5.2	6.1	9.7	5.5	6.4	8356.9	2083	4.01			
	Total time	3.6	4.1	3.6	3.9	4.1	5.4	4.9	4.6	4.6	5.8	5.7	6.2	7.1	10.3	6.5	7.8	10412.4	2083	5.00				
March 2015	Number of Calls	98	124	420	188	57	241	125	136	341	218	187	86	86	208	8	82	91	2696			(total min/total calls)		
	Exceptions																		0					
	Dispatch Response Time	0.6	0.6	0.9	1.1	0.5	0.7	0.9	0.7	1.0	0.8	0.8	0.6	0.6	1.1	0.7	0.8	1.3	2309.4	2696	0.86			
	Police Response Time	2.7	3.3	2.9	2.9	3.3	2.8	4.1	3.1	3.4	3.5	4.7	4.7	4.8	6.2	10.1	4.0	6.8	10169.5	2696	3.77			
	Total time	3.3	3.9	3.8	4.0	3.8	5.0	3.8	4.4	4.3	5.5	5.3	5.4	7.3	10.8	4.8	8.1	12478.9	2696	4.63				
April 2015	Number of Calls	98	112	441	186	44	220	109	143	331	226	180	107	57	212	5	104	90	2665			(total min/total calls)		
	Exceptions																		0					
	Dispatch Response Time	0.7	0.9	1.0	0.9	0.8	1.0	1.2	1.3	1.0	1.2	0.9	0.8	0.9	0.8	1.5	1.0	1.1	2630.9	2665	0.99			
	Police Response Time	2.2	3.2	2.9	2.9	3.1	2.8	4.2	3.4	2.9	4.0	4.2	4.2	5.2	6.4	8.0	4.1	5.7	9790.6	2665	3.67			
	Total time	2.9	4.1	3.9	3.8	3.9	5.4	4.7	3.9	5.2	5.1	5.0	6.1	7.2	9.5	5.1	6.8	12421.5	2665	4.66				
May 2015	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	3192			(total min/total calls)		
	Exceptions																		0					
	Dispatch Response Time	1.4	1.0	0.9	1.4	0.6	0.9	2.0	1.2	1.6	1.3	1.0	1.0	1.3	1.7	1.0	1.5	1.9	4112.1	3192	1.29			
	Police Response Time	2.8	3.4	2.9	3.1	3.2	2.9	4.3	3.5	3.3	3.7	4.3	4.6	5.0	6.0	10.2	4.5	6.6	12139.6	3192	3.80			
	Total time	4.2	4.4	3.8	4.5	3.8	6.3	4.7	4.9	5.0	5.3	5.6	6.3	7.7	11.2	6.0	8.5	16251.7	3192	5.09				
June 2015	Number of Calls	108	143	483	261	56	278	146	145	433	254	228	113	81	253	4	114	131	3231			(total min/total calls)		
	Exceptions																		0					
	Dispatch Response Time	1.4	1.3	1.6	1.4	0.9	1.8	1.1	1.1	1.4	1.0	1.0	1.4	1.2	1.1	1.3	1.4	1.9	4381.8	3231	1.36			
	Police Response Time	2.7	3.2	3.1	3.3	3.1	2.8	3.9	3.5	3.3	3.5	4.6	4.4	4.8	6.3	7.0	4.1	6.9	12382.6	3231	3.83			
	Total time	4.1	4.5	4.7	4.7	4.0	4.6	5.0	4.6	4.7	4.5	5.6	5.8	6.0	7.4	8.3	5.5	8.8	16764.4	3231	5.19			
YEAR TO DATE TOTALS AND AVERAGES																								
Total Number of Calls																					16466.0			
Total Number of Exceptions																					0.0			
Average Dispatch Response Time																					1.19			
Average Police Response Time																					3.93			
Average Total Time																					4.89			

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Police Department
Routine Calls for Service
By Police District

	VALLEY								BLUFF			RICHWOODS								Total Calls	Total Minutes	Calls	Average	(total min/total calls)
	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19							
January 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2336					
	Number of Calls	64	143	235	135	77	125	133	118	256	198	180	111	89	228	8	144	92	0					
	Exceptions																							
	Dispatch Response Time	11.2	7.5	8.8	9.0	7.6	8.5	11.2	8.9	15.0	15.3	12.6	12.9	11.5	14.6	16.0	10.1	10.1	26693.0	2336	11.43			
February 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2147					
	Number of Calls	54	133	242	130	83	96	109	99	226	159	131	105	86	208	2	171	113	0					
	Exceptions																							
	Dispatch Response Time	10.7	9.8	9.6	14.4	10.7	8.6	11.7	9.9	15.6	11.4	10.8	13.2	10.1	14.1	7.0	11.4	10.4	25118.1	2147	11.70			
March 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2519					
	Number of Calls	83	129	274	147	81	127	128	127	325	189	150	106	95	267	2	157	132	0					
	Exceptions																							
	Dispatch Response Time	9.8	11.8	11.7	12.3	9.9	13.4	15.9	10.7	13.5	14.6	14.3	10.3	10.0	16.7	2.0	9.8	13.0	32298.5	2519	12.82			
April 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2579					
	Number of Calls	67	147	264	130	86	154	140	151	375	249	173	100	98	202	4	128	111	0					
	Exceptions																							
	Dispatch Response Time	9.8	12.7	14.3	16.2	14.2	13.8	14.7	11.3	17.0	17.1	14.0	8.3	14.3	15.5	27.0	12.0	16.6	37419.3	2579	14.51			
May 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	3192					
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0					
	Exceptions																							
	Dispatch Response Time	1.4	1.0	0.9	1.4	0.6	0.9	2	1.2	1.6	1.3	1.0	1.0	1.3	1.7	1.0	1.5	1.9	4112.1	3192	1.29			
June 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	3109					
	Number of Calls	84	196	336	176	103	200	155	154	426	266	173	160	109	262	4	161	144	0					
	Exceptions																							
	Dispatch Response Time	11.8	12.8	12.9	18.2	17.8	16.4	16.3	17.2	21.5	17.3	17.0	17.6	17.2	17.9	18.8	15.3	20.9	52956.8	3109	17.03			
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	15882					
	Number of Calls	84	196	336	176	103	200	155	154	426	266	173	160	109	262	4	161	144	0					
	Exceptions																							
	Average Dispatch Response Time	10.35																						
Average Police Response Time	5.63																							
Average Total Time	17.09																							

City of Peoria
Emergency Communications Center

Police Department
Backlog Calls for Service
By Police District

	Police District	VALLEY								BLUFF			RICHWOODS								Total Calls	(total min/total calls)	
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19					
January 2015	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	114	Calls	Average		
	Exceptions	1	2	34	5	1	3	6	10	11	10	5	6	4	12	1	0	3	0				
	Dispatch Response Time	6.0	20.5	6.6	0.0	1.0	10.0	39.5	7.8	19.4	54.1	32.6	8.5	6.8	14.3	27.0	0.0	5.3	1827.5	114	16.03		
	Police Response Time	8.0	10.1	14.2	0.0	0.0	6.0	8.7	4.4	6.8	5.0	4.0	13.7	5.0	10.9	3.0	0.0	10.0	1036.0	114	9.09		
	Total time	14.0	30.6	20.8	0.0	1.0	16.0	48.2	12.2	26.2	59.1	36.6	22.2	11.8	25.2	30.0	0.0	15.3	2863.5	114	25.12		
February 2015	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	148	Calls	Average		
	Exceptions	6	32	10	5	3	5	12	9	8	8	11	6	7	11	1	7	7	0				
	Dispatch Response Time	26.0	25.2	11.9	53.8	20.0	17.0	7.5	28.4	22.1	27.7	32.8	10.5	68.1	61.1	8.0	8.1	23.3	4039.8	148	27.30		
	Police Response Time	4.3	8.9	4.6	5.4	5.3	3.5	8.7	6.0	5.4	3.7	9.8	8.3	8.2	12.5	16.0	7.6	10.4	1142.7	148	7.72		
	Total time	30.3	34.1	16.5	59.2	25.3	20.5	16.2	34.4	27.5	31.4	42.6	18.8	76.3	73.6	24.0	15.7	33.7	5182.5	148	35.02		
March 2015	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	154	Calls	Average		
	Exceptions	4	33	14	14	2	11	8	3	18	8	10	3	3	10	0	3	10	0				
	Dispatch Response Time	29.3	17.8	20.8	53.8	26.5	22.3	20.8	11.7	22.6	24.8	31.6	13.0	16.0	43.9	0.0	0.5	33.3	4030.5	154	26.17		
	Police Response Time	4.5	9.4	8.0	5.9	2.5	4.5	7.6	9.0	7.2	7.5	7.3	6.0	20.0	9.0	0.0	7.3	9.4	1211.6	154	7.87		
	Total time	33.8	27.2	28.8	59.7	29.0	26.8	28.4	20.7	29.8	32.3	38.9	19.0	36.0	52.9	0.0	7.8	42.7	5242.1	154	34.04		
April 2015	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	163	Calls	Average		
	Exceptions	3	45	9	5	5	4	9	11	11	10	6	6	5	15	0	12	7	0				
	Dispatch Response Time	15.7	22.5	27.1	15.2	2.0	11.3	28.9	12.3	58.2	18.1	24.8	24.0	46.2	11.7	0.0	12.8	1.7	3516.1	163	21.57		
	Police Response Time	2.7	9.5	4.1	4.6	9.8	3.7	3.5	8.3	3.2	5.4	12.4	6.7	6.5	8.0	0.0	6.7	7.1	1168.5	163	7.17		
	Total time	18.4	32.0	31.2	19.8	11.8	15.0	32.4	20.6	61.4	23.5	37.2	30.7	52.7	19.7	0.0	19.5	8.8	4684.6	163	28.74		
May 2015	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2992	Calls	Average		
	Exceptions	89	145	340	195	98	177	155	143	430	269	189	115	113	233	7	149	145	0				
	Dispatch Response Time	9.3	12.1	15.0	19.0	13.8	17.7	21.6	16.4	18.6	18.1	16.2	14.1	15.2	17.6	39.6	15.8	17.9	50161.2	2992	16.77		
	Police Response Time	4.2	5.9	4.2	4.7	6.4	4.1	6.0	5.4	4.7	6.1	5.3	6.6	7.5	9.5	12.3	7.1	7.7	17373.0	2992	5.81		
	Total time	13.5	18.0	19.2	23.7	20.2	21.8	27.6	21.8	23.3	24.2	21.5	20.7	22.7	27.1	51.9	22.9	25.6	67534.2	2992	22.57		
June 2015	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	260	Calls	Average		
	Exceptions	5	28	29	10	5	11	20	17	44	29	18	9	6	13	0	5	11	0				
	Dispatch Response Time	44.8	17.3	15.3	27.8	6.4	27.9	28.5	30.0	32.4	21.5	26.5	19.7	55.2	9.1	0.0	43.4	40.3	6662.2	260	25.62		
	Police Response Time	7.3	7.4	6.0	4.1	8.8	4.5	5.8	3.1	4.5	5.1	3.8	6.3	7.3	8.9	0.0	5.8	6.3	1449.7	260	5.58		
	Total time	52.1	24.7	21.3	31.9	15.2	32.4	34.3	33.1	36.9	26.6	30.3	26.0	62.5	18.0	0.0	49.2	46.6	8111.9	260	31.20		
YEAR TO DATE TOTALS AND AVERAGES																							
Total Number of Calls																			3831				
Total Number of Exceptions																			0.0				
Average Dispatch Response Time																			22.24				
Average Police Response Time																			7.20				
Average Total Time																			29.45				

City of Peoria
Emergency Communications Center

Peoria Fire Department
Fire Calls for Service
By Fire Map

Month	Fire Map	VALLEY				BLUFF			RICHWOODS					Total Calls	Total Minutes	Calls	Average
		100-199	200-299	400-499	1200-1299	300-399	1000-1099	1100-1199	1300-1399	1500-1599	1600-1699	1900-1999	2000-2099				
January 2015	Number of Calls	279	113	205	69	124	159	107	231	50	144	76	54	1611			(total min/total calls)
	Dispatch Response Time	0.6	1.2	0.6	0.2	1.0	0.9	0.6	0.6	0.7	0.8	0.8	0.8	1163.9	1611	0.72	
	Fire Response Time	3.5	3.9	4.2	5.9	4	4.9	4.6	4.7	5.2	5.1	6.4	6.2	7353.9	1611	4.56	
	Total time	4.1	5.1	4.8	6.1	5.0	5.8	5.2	5.3	5.9	5.9	7.2	7.0	8517.8	1611	5.29	
February 2015	Number of Calls	257	100	185	62	133	125	92	198	40	133	62	31	1418			(total min/total calls)
	Dispatch Response Time	0.4	0.3	0.8	0.5	0.7	0.6	0.2	0.3	1.2	0.8	0.6	0.3	758.6	1418	0.53	
	Fire Response Time	3.5	4.2	4.3	5.9	4.2	5	4.4	4.8	5	4.6	6.1	6.5	6411.1	1418	4.52	
	Total time	3.9	4.5	5.1	6.4	4.9	5.6	4.6	5.1	6.2	5.4	6.7	6.8	7169.7	1418	5.06	
March 2015	Number of Calls	246	74	212	119	158	138	96	203	39	141	59	38	1523			(total min/total calls)
	Dispatch Response Time	0.5	0.9	0.3	0.4	0.8	0.8	0.8	0.8	1.3	0.5	0.4	0.6	944.4	1523	0.62	
	Fire Response Time	3.5	5.3	4.1	3.9	3.9	4.6	4	4.5	5.1	4.8	5.8	5.2	6550.5	1523	4.30	
	Total time	4.0	6.2	4.4	4.3	4.7	5.4	4.8	5.3	6.4	5.3	6.2	5.8	7494.9	1523	4.92	
APRIL 2015	Number of Calls	270	107	228	57	153	163	109	197	41	125	71	31	1552			(total min/total calls)
	Dispatch Response Time	1.0	0.3	1.2	0.7	0.7	0.4	0.4	0.9	0.3	0.5	0.3	1.1	1139.0	1552	0.73	
	Fire Response Time	3.4	3.9	3.9	5.8	3.8	4.6	4.1	4	4.4	4.5	5.3	8.4	6500.8	1552	4.19	
	Total time	4.4	4.2	5.1	6.5	4.5	5.0	4.5	4.9	4.7	5.0	5.6	9.5	7639.8	1552	4.92	
May 2015	Number of Calls	284	115	244	89	164	165	107	182	48	130	79	34	1641			(total min/total calls)
	Response Time	0.6	0.9	0.8	0.5	0.5	1.1	0.5	0.8	1.0	0.5	0.8	0.2	1159.2	1641	0.71	
	Time	3.2	4	4	4.8	3.9	4.6	3.9	4.6	4.4	4.4	5.4	6.3	6849.1	1641	4.17	
	Total time	3.8	4.9	4.8	5.3	4.4	5.7	4.4	5.4	5.4	4.9	6.2	6.5	8008.3	1641	4.88	
June 2015	Number of Calls	288	122	261	64	128	184	107	214	51	146	58	36	1659			(total min/total calls)
	Response Time	1.5	0.9	0.6	0.3	2.0	1.9	2.1	1.3	0.3	0.7	0.4	2.6	2060.4	1659	1.24	
	Time	3.5	3.8	4.1	5.8	4.3	4.9	4	4.6	4.8	4.8	5.8	5.8	7268.1	1659	4.38	
	Total time	5.0	4.7	4.7	6.1	6.3	6.8	6.1	5.9	5.1	5.5	6.2	8.4	9328.5	1659	5.62	
YEAR TO DATE TOTALS AND AVERAGES																	
Total Number of Calls									9404								
Average Dispatch Response Time									0.76								
Average Fire Response Time									4.36								
Average Total Time									5.12								

Peoria Fire Department
Average Turn-Out Time for Each Apparatus

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	Yearly Average
B1	1.5	1.5	1.4	1.5	1.5	1.5							1.48
E1	1.5	1.5	1.5	1.4	1.4	1.4							1.45
R1	1.4	1.4	1.5	1.4	1.4	1.4							1.42
T1	1.9	1.8	1.7	1.6	1.7	1.7							1.73
E10	1.4	1.5	1.5	1.4	1.4	1.5							1.45
E12	1.7	1.6	1.6	1.5	1.4	1.5							1.55
E13	1.6	1.5	1.5	1.4	1.4	1.5							1.48
T14	1.7	1.7	1.8	1.7	1.7	1.6							1.70
E15	1.7	1.8	1.6	1.4	1.6	1.5							1.60
E16	1.7	1.6	1.4	1.5	1.4	1.5							1.52
E19	1.7	1.6	1.7	1.5	1.5	1.6							1.60
E2	1.7	1.7	1.6	1.6	1.5	1.7							1.63
R2	1.4	1.4	1.3	1.4	1.2	1.3							1.33
E20	1.8	1.9	1.7	1.6	1.5	1.5							1.67
B3	1.6	1.6	1.6	1.6	1.5	1.6							1.58
E3	1.4	1.3	1.3	1.2	1.3	1.3							1.30
T3	1.5	1.6	1.5	1.4	1.5	1.6							1.52
E4	1.5	1.4	1.5	1.3	1.4	1.5							1.43
T4	1.7	1.5	1.5	1.3	1.5	1.6							1.52
												Department Average	1.52

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Urgent calls for service by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
January 2015	Number of Calls	3	1	14	2	95	84	42	14	30	37	74		396		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	2.7	0.0	1.8	1.0	1.3	2.1	1.2	1.1	0.2	2.4	0.8		555.0	396	1.40
	Police Response Time	1.5	27.0	5.1	18.0	7.9	7.2	10.1	9.8	4.3	9.5	3.5		2795.1	396	7.06
	Total time	4.2	27.0	6.9	19.0	9.2	9.3	11.3	10.9	4.5	11.9	4.3		3350.1	396	8.46
February 2015	Number of Calls	2	4	7	0	71	84	37	5	28	30	68		336		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	0.0	1.5	1.0	0.0	2.6	2.4	1.5	0.7	0.4	1.2	1.2		587.0	336	1.75
	Police Response Time	3.0	12.8	7.6	0.0	9.3	7.9	9.8	5.3	3.6	10.5	3.6		2484.0	336	7.39
	Total time	3.0	14.3	8.6	0.0	11.9	10.3	11.3	6.0	4.0	11.7	4.8		3071.0	336	9.14
March 2015	Number of Calls	5	1	11	1	103	90	50	16	46	36	89		448		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	9.7	0.0	5.1	1.0	1.5	1.4	1.3	0.6	1.1	3.3	1.0		719.1	448	1.61
	Police Response Time	2.6	20.0	4.8	24.0	7.9	6.6	10.7	4.4	3.5	6.7	3.7		2854.4	448	6.37
	Total time	12.3	20.0	9.9	25.0	9.4	8.0	12.0	5.0	4.6	10.0	4.7		3573.5	448	7.98
April 2015	Number of Calls	5	4	12	1	113	94	56	11	43	29	85		453		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	2.3	1.0	0.7	0.0	2.1	2.4	1.7	0.6	2.2	0.8	0.8		774.4	453	1.71
	Police Response Time	5.6	14.0	9.0	1.0	7.1	5.8	11.6	5.5	3.3	8.8	4.1		2996.2	453	6.61
	Total time	7.9	15.0	9.7	1.0	9.2	8.2	13.3	6.1	5.5	9.6	4.9		3770.6	453	8.32
May 2015	Number of Calls	4	4	12	4	109	98	57	11	46	45	102		492		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.0	0.5	0.3	0.3	1.4	2.9	3.5	0.6	1.3	1.2	1.5		920.5	492	1.87
	Police Response Time	3.3	11.7	8.6	12.8	8.9	7.1	9.9	7.1	3.0	7.4	3.2		3320.1	492	6.75
	Total time	4.3	12.2	8.9	13.1	10.3	10.0	13.4	7.7	4.3	8.6	4.7		4240.6	492	8.62
June 2015	Number of Calls	0	2	13	5	125	96	54	19	35	58	92		499		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	0.0	1.5	1.3	0.2	1.8	1.7	1.8	2.8	1.5	2.7	2.0		952.6	499	1.91
	Police Response Time	0.0	9.0	10.0	15.6	8.1	7.6	13.0	8.3	3.3	9.2	3.7		3817.3	499	7.65
	Total time	0.0	10.5	11.3	15.8	9.9	9.3	14.8	11.1	4.8	11.9	5.7		4769.9	499	9.56
YEAR TO DATE TOTALS AND AVERAGES																
												Total Number of Calls	2624			
												Total Number of Exceptions	0			
												Average Dispatch Response Time	1.71			
												Average Police Response Time	6.55			
												Average Total Time	7.70			

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Routine calls by district

Month	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls	Total Minutes	Calls	Average	
		Number of Calls	Exceptions	Dispatch Response Time	Police Response Time	Total time												
January 2015	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls				
	Number of Calls	32	3	13	3	100	148	78	19	41	55	65		557			(total min/total calls)	
	Exceptions													0				
	Dispatch Response Time	10.0	7.3	11.8	38.0	7.9	8.4	9.3	11.1	11.6	8.3	6.9		4959.4	557	8.90		
	Police Response Time	5.9	15.3	7.3	10.3	11.7	9.0	14.1	9.3	6.0	8.6	5.4		5209.0	557	9.35		
Total time	15.9	22.6	19.1	48.3	19.6	17.4	23.4	20.4	17.6	16.9	12.3		10168.4	557	18.26			
February 2015	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls				
	Number of Calls	40	8	7	2	105	124	48	11	22	42	78		487			(total min/total calls)	
	Exceptions													0				
	Dispatch Response Time	5.3	4.6	8.9	10.5	8.8	7.2	9.1	8.6	4.1	5.0	6.1		3456.3	487	7.10		
	Police Response Time	3.9	16.6	12.0	6.0	10.1	8.1	14.5	8.4	4.3	9.7	4.6		4098.9	487	8.42		
Total time	9.2	21.2	20.9	16.5	18.9	15.3	23.6	17.0	8.4	14.7	10.7		7555.2	487	15.51			
March 2015	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls				
	Number of Calls	48	7	18	3	112	117	48	10	35	39	91		528			(total min/total calls)	
	Exceptions													0				
	Dispatch Response Time	7.9	3.2	9.8	24.0	15.3	13.0	5.9	2.6	6.2	9.5	7.0		5418.3	528	10.26		
	Police Response Time	4.5	17.1	9.6	15.0	9.6	8.5	12.3	13.8	5.6	12.8	5.2		4520.0	528	8.56		
Total time	12.4	20.3	19.4	39.0	24.9	21.5	18.2	16.4	11.8	22.3	12.2		9938.3	528	18.82			
April 2015	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls				
	Number of Calls	44	9	10	1	132	148	79	19	46	58	88		634			(total min/total calls)	
	Exceptions													0				
	Dispatch Response Time	19.0	7.4	9.4	0.0	12.5	16.1	9.4	9.1	8.2	5.7	7.9		7347.9	634	11.59		
	Police Response Time	6.2	17.8	7.7	13.0	11.0	8.5	11.4	15.7	3.9	9.5	4.1		5523.1	634	8.71		
Total time	25.2	25.2	17.1	13.0	23.5	24.6	20.8	24.8	12.1	15.2	12.0		12871.0	634	20.30			
May 2015	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls				
	Number of Calls	36	11	11	3	180	143	72	25	42	57	111		691			(total min/total calls)	
	Exceptions													0				
	Dispatch Response Time	5.5	5.6	18.9	19.0	11.3	12.7	9.6	10.7	6.5	7.4	9.5		7082.6	691	10.25		
	Police Response Time	5.0	21.4	7.8	16.7	9.3	8.7	14.2	12.8	3.9	9.0	6.3		6187.9	691	8.95		
Total time	10.5	27.0	26.7	35.7	20.6	21.4	23.8	23.5	10.4	16.4	15.8		13270.5	691	19.20			
June 2015	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls				
	Number of Calls	28	11	14	1	144	154	76	14	42	50	116		650			(total min/total calls)	
	Exceptions													0				
	Dispatch Response Time	5.2	8.6	9.0	1.0	12.1	10.0	13.5	2.8	5.8	11.1	8.8		6534.2	650	10.05		
	Police Response Time	9.6	19.9	6.5	8.0	9.8	11.1	13.9	7.6	4.9	9.0	6.4		6268.3	650	9.64		
Total time	14.8	28.5	15.5	9.0	21.9	21.1	27.4	10.4	10.7	20.1	15.2		12802.5	650	19.70			
YEAR TO DATE TOTALS AND AVERAGES																		
													Total Number of Calls			3547.0		
													Total Number of Exceptions			0		
													Average Dispatch Response Time			9.69		
													Average Police Response Time			8.94		
													Average Total Time			18.63		

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Backlog Calls for Service by District

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
		Number of Calls														
January 2015	Number of Calls	6	0	1	1	8	6	6	1	1	2	1		33		
	Exceptions													0		
	Dispatch Response Time	71.5	0.0	3.0	1.0	10.6	6.2	13.2	43.0	0.0	2.5	1.0		683.2	33	20.7
	Police Response Time	16.3	0.0	0.0	15.0	15.0	10.5	12.7	29.0	6.0	13.5	4.0		438.0	33	13.3
	Total time	87.8	0.0	3.0	16.0	25.6	16.7	25.9	72.0	6.0	16.0	5.0	0.0	1121.2	33	34.0
February 2015	Number of Calls	7	0	1	0	5	10	5	0	2		1		31		
	Exceptions													0		
	Dispatch Response Time	77.7	0.0	0.0	0.0	6.0	4.9	2.2	0.0	18.5	0.0	2.0		672.9	31	21.7
	Police Response Time	13.4	0.0	0.0	0.0	10.2	10.4	12.3	0.0	15.5	0.0	1.0		342.3	31	11.0
	Total time	91.1	0.0	0.0	0.0	16.2	15.3	14.5	0.0	34.0	0.0	3.0	0.0	1015.2	31	32.7
March 2015	Number of Calls	11	1	6	0	9	6	2	0	0	1	7		43		
	Exceptions													0		
	Dispatch Response Time	104.2	3.0	43.3	0.0	14.9	3.8	3.0	0.0	0.0	1.0	18.8		1704.5	43	39.6
	Police Response Time	15.7	29.0	0.0	0.0	11.8	5.8	12.0	0.0	0.0	4.0	4.3		400.8	43	9.3
	Total time	119.9	32.0	43.3	0.0	26.7	9.6	15.0	0.0	0.0	5.0	23.1	0.0	2105.3	43	49.0
April 2015	Number of Calls	13	0	3	0	4	9	4	0	2	3	4		42		
	Exceptions													0		
	Dispatch Response Time	148.0	0.0	31.3	0.0	18.3	5.6	6.5	0.0	9.0	28.7	23.7		2366.4	42	56.3
	Police Response Time	23.7	0.0	13.5	0.0	7.0	9.4	10.3	0.0	2.5	12.0	2.3		552.6	42	13.2
	Total time	171.7	0.0	44.8	0.0	25.3	15.0	16.8	0.0	11.5	40.7	26.0	0.0	2919.0	42	69.5
May 2015	Number of Calls	6	0	2	0	4	12	7	1	0	6	10		48		
	Exceptions													0		
	Dispatch Response Time	165.5	0.0	3.0	0.0	25.0	17.0	12.0	0.0	0.0	10.7	4.7		1498.2	48	31.2
	Police Response Time	13.3	0.0	9.0	0.0	9.8	8.9	13.3	19.0	0.0	8.8	4.0		448.7	48	9.3
	Total time	178.8	0.0	12.0	0.0	34.8	25.9	25.3	19.0	0.0	19.5	8.7	0.0	1946.9	48	40.6
June 2015	Number of Calls	9	2	3	1	13	9	4	0	1	3	15		60		
	Exceptions													0		
	Dispatch Response Time	113.0	1.0	8.0	39.0	12.9	18.2	40.0	0.0	8.0	25.0	4.9		1730.0	60	28.8
	Police Response Time	23.2	25.5	0.0	0.0	8.7	8.7	13.5	0.0	4.0	10.0	7.2		647.2	60	10.8
	Total time	136.2	26.5	8.0	39.0	21.6	26.9	53.5	0.0	12.0	35.0	12.1		2377.2	60	39.6
YEAR TO DATE TOTALS AND AVERAGES																
												Total Number of Calls			257	
												Total Number of Exceptions			0.0	
												Average Dispatch Response Time			33.07	
												Average Police Response Time			11.15	
												Average Total Time			44.23	



COMMUNITY DEVELOPMENT DEPARTMENT



NOTICE OF CANCELLATION

HISTORIC PRESERVATION COMMISSION

NOTICE IS HEREBY GIVEN THAT THE REGULAR MEETING OF THE HISTORIC PRESERVATION COMMISSION SCHEDULED FOR 8:30 AM ON WEDNESDAY, JULY 22, 2015, HAS BEEN CANCELED DUE TO LACK OF CASES.

THE NEXT REGULAR MEETING IS SCHEDULED FOR WEDNESDAY, AUGUST 26, 2015.

IF YOU HAVE ANY QUESTIONS, PLEASE CONTACT THE PEORIA DEVELOPMENT CENTER AT 494-8600.

A handwritten signature in black ink, appearing to read "Josh Naven", written over a horizontal line.

Josh Naven, Senior Urban Planner

Posted: July 9, 2015
Post until: July 23, 2015

			HOUSING COURT 7/14/15	116 CASES				
AE	O	09:00 AM	OGLE DERALD/PAULETTE	HC-15-613	JEFFERSON 1513 NE	14-Jul-15	FIRST APPEARANCE	
AE	O	09:00 AM	ADAMS ROY	HC-15-614	MADISON 0716 NE	14-Jul-15	FIRST APPEARANCE	
DG	NO	09:45 AM	SHULLAW THOMAS/MARTHA	HC-14-690	BIGELOW 1521	14-Jul-15	REVIEW	
DG	NO	09:00 AM	SCHAUBLE NICHOLAS	HC-15-592	GILBERT 1709	14-Jul-15	FIRST APPEARANCE	
DG	NO	09:00 AM	CJD PROPERTIES	HC-14-416	MACHIN 1812	14-Jul-15	REVIEW	
DG	O	09:45 AM	MAHONEY FRANKLIN	HC-15-372	NEBRASKA 0303 E	14-Jul-15	REVIEW	
DG	NO	09:45 AM	SALEM BROS INC	HC-15-085	NORTH 2103	14-Jul-15	REVIEW	
DG	O	09:00 AM	HEDEMAN ZACHARY	HC-15-463	PLAZA 5527	14-Jul-15	REVIEW	
DG	NO	09:00 AM	DECA PROPERTIES	HC-15-591	SYLVAN 3330	14-Jul-15	FIRST APPEARANCE	
DG	O	09:45 AM	RUSSELL GAIL	HC-15-144	VIRGINIA 0717 W	14-Jul-15	REVIEW	
DG	NO	09:00 AM	MONTOYA JOSE	HC-15-544	VIRGINIA 1117 W	14-Jul-15	REVIEW	
GW	NO	09:45 AM	BOWERS EVELYN/ROOSEVELT	HC-15-349	ADRIAN HINTON 1419	14-Jul-15	REVIEW	
GW	O	09:00 AM	PHILLIPS JAMES/FRANCES	HC-15-477	GARDEN 2023	14-Jul-15	REVIEW	
GW	NO	09:45 AM	GATHERS EUGENE	HC-15-087	GREENLAWN 0312	14-Jul-15	REVIEW/DEFAULT PEND \$800	
GW	NO	09:00 AM	BERRY CHAD	HC-15-478	HELEN 0817	14-Jul-15	REVIEW	
GW	NO	09:45 AM	T R MCDOWELL PROP	HC-14-688	HOWETT 2003	14-Jul-15	REVIEW	
GW	NO	09:00 AM	CLARK GALYN	HC-15-483	KETTELLE 1813	14-Jul-15	REVIEW	
GW	O	09:45 AM	KEYS EARLIE	HC-14-734	LINCOLN 0904	14-Jul-15	REVIEW	
GW	O	09:45 AM	HANASKI/LUDWIG	HC-15-347	MADISON 1503 NE	14-Jul-15	REVIEW	
GW	NO	09:00 AM	KEANE THOMAS/SARAH	HC-15-466	PERRY 0811 NE	14-Jul-15	REVIEW	
GW	NO	09:45 AM	PELMORE IRAN	HC-15-175	STANLEY 1407	14-Jul-15	REVIEW	
GW	O	09:00 AM	BOWMAN BERNICE/PATRICIA	HC-15-482	STANLEY 1922	14-Jul-15	REVIEW	
GW	O	09:45 AM	CITIMORTGAGE	HC-15-090	TONTI 1022	14-Jul-15	REVIEW	
GW	NO	09:00 AM	EDWARD EPPINGER ESTATE	HC-15-549	WARREN 1026 S	14-Jul-15	REVIEW	
GW	O	09:00 AM	KRIGNER TRACY	HC-15-480	WESTERN 0806	14-Jul-15	REVIEW	
GW	O	09:00 AM	BROADWAY ERICA	HC-15-459	WESTERN 0907	14-Jul-15	REVIEW	
GW	NO	09:00 AM	BOND LOUIS	HC-15-465	WESTERN 0932/0934	14-Jul-15	REVIEW	
GW	O	09:00 AM	CHARLTON WILLIAM	HC-15-460	WESTERN 1006	14-Jul-15	REVIEW	
GW	NO	09:45 AM	HARDESTY ENTERPRISES	HC-15-242	WESTERN 1501 S	14-Jul-15	REVIEW	
JS	C	09:00 AM	THABAT/QASEM/MATHANA	HC-15-605	WESTERN 0600	14-Jul-15	FIRST APPEARANCE	
JS	C	09:00 AM	MATHANA SALAH	HC-15-606	WESTERN 0604	14-Jul-15	FIRST APPEARANCE	
JS	C	09:00 AM	SNA RENTAL PROPERTY	HC-15-604	WESTERN 0612	14-Jul-15	FIRST APPEARANCE	
JS	C	09:00 AM	MATHANA SALAH	HC-15-607	WESTERN 0612 (2nd)	14-Jul-15	FIRST APPEARANCE	
JS	C	09:00 AM	PIERSON CONRAD	HC-15-601	WESTERN 1034	14-Jul-15	FIRST APPEARANCE	
JS	C	09:00 AM	BATES ANTHONY	HC-15-602	WESTERN 1122	14-Jul-15	FIRST APPEARANCE	
JS	C	09:00 AM	MUSAITIF SIAD	HC-15-603	WESTERN 1212-1218	14-Jul-15	FIRST APPEARANCE	
LA	O	09:00 AM	ANDERSON MICHAEL	HC-15-561	CALIFORNIA 1919 N	14-Jul-15	REVIEW	
LA	O	09:45 AM	MARINICH MELODY	HC-13-756	GARDEN 2821	14-Jul-15	REVIEW/DEFAULT PEND \$500	

LA	NO	09:00 AM	CONNOLLY TIMOTHY/JOHNETTA	HC-15-610	MAYWOOD 0509 E	14-Jul-15	FIRST APPEARANCE	
LA	O	09:00 AM	PROBYN TIMOTHY	HC-15-609	MAYWOOD 0513 E	14-Jul-15	FIRST APPEARANCE	
LA	NO	09:00 AM	FLOYD RASHID PENSION FUND	HC-15-611	MCCLURE 0207 W	14-Jul-15	FIRST APPEARANCE	
LA	NO	09:00 AM	WING CRAIG	HC-15-457	MCCLURE 0721 E	14-Jul-15	REVIEW	
LA	O	09:00 AM	EYER DANIEL	HC-15-456	MISSOURI 2004	14-Jul-15	REVIEW	
LA	NO	09:00 AM	HIGHFILL JEFFREY/PAMELA	HC-15-612	NORTH 1524	14-Jul-15	FIRST APPEARANCE	
LA	O	09:00 AM	MAU DIANE	HC-15-516	RICHWOODS 2026	14-Jul-15	REVIEW	
LA	O	09:00 AM	HAWKINS MYRNA	HC-15-498	RICHWOODS 2117	14-Jul-15	REVIEW	
LA	NO	09:00 AM	COBRO INC	HC-15-608	WILLCOX 0609 W	14-Jul-15	FIRST APPEARANCE	
LE	NO	09:00 AM	CONSOLIDATED PROPERTIES	HC-15-381	AYRES 1613	14-Jul-15	REVIEW	
LE	O	09:00 AM	ROBERTS KATHLEEN/CHARLES	HC-15-469	AYRES 1719	14-Jul-15	REVIEW	
LE	O	09:00 AM	ERKE STEPHEN	HC-15-473	BARKER 1528	14-Jul-15	REVIEW	
LE	NO	09:00 AM	TATE LESLIE/PERRY	HC-15-472	BARKER 1608	14-Jul-15	REVIEW	
LE	NO	09:00 AM	AMES ESTATE OF MILDRED	HC-15-423	BARKER 1800	14-Jul-15	REVIEW	
LE	O	09:00 AM	CALVERT BARRY	HC-14-671	BARKER 1821	14-Jul-15	REVIEW	
LE	NO	09:00 AM	HARKLESS RONALD	HC-15-300	BOURLAND 1404 N	14-Jul-15	REVIEW	
LE	NO	09:00 AM	NAUMAN ARLENE	HC-15-075	BRADLEY 1804	14-Jul-15	REVIEW	
LE	NO	09:00 AM	SHAW ANDRE	HC-15-454	BROADWY 1331	14-Jul-15	REVIEW	
LE	O	09:00 AM	SELLERS MILDRED	HC-15-241	COLUMBIA TERR 1409	14-Jul-15	REVIEW	
LE	O	09:00 AM	SHEERIN BRENDAN	HC-15-267	COLUMBIA TERR 1416	14-Jul-15	REVIEW	
LE	NO	09:00 AM	MONGE RONALD/CYNTHIA	HC-15-303	COOPER 0812 N	14-Jul-15	REVIEW	
LE	NO	09:00 AM	CB PROPERTIES LLC	HC-15-361	ELLIS 1115	14-Jul-15	REVIEW	
LE	NO	09:00 AM	CONSOLIDATED PROPERTIES	HC-15-358	ELLIS 1202	14-Jul-15	REVIEW	
LE	O	09:00 AM	DEVANNEY SEAN	HC-15-471	ELMWOOD 1212	14-Jul-15	REVIEW	
LE	NO	09:00 AM	REEVES PETER	HC-12-127	FRINK 1115 N	14-Jul-15	REVIEW	
LE	O	09:00 AM	IZAGUIRRE LAURA	HC-15-338	FRINK 1123	14-Jul-15	REVIEW	
LE	O	09:00 AM	COOK DAVID A/AIMEE L	HC-15-298	GLENWOOD 1101 N	14-Jul-15	REVIEW	
LE	O	09:00 AM	MCENROE SONDR	HC-15-028	GLENWOOD 1207	14-Jul-15	REVIEW/DEFAULT PEND \$500	
LE	NO	09:00 AM	SERIES III RWF PROP	HC-15-076	INSTITUTE 1113	14-Jul-15	REVIEW	
LE	O	09:00 AM	CRUSEN/THOMPSON	HC-15-031	INSTITUTE 1205	14-Jul-15	REVIEW	
LE	O	09:00 AM	O'RUSSA BRENDA/JOHN	HC-14-727	MAPLEWOOD 1022	14-Jul-15	REVIEW	
LE	O	09:00 AM	SAVOIE MARINA	HC-15-363	MAPLEWOOD 1026	14-Jul-15	REVIEW	
LE	O	09:00 AM	MAPLEWOOD 1100	HC-15-340	MAPLEWOOD 1100	14-Jul-15	REVIEW	
LE	O	09:00 AM	KERNS DAN	HC-14-075	MOSS 1109 W	14-Jul-15	REVIEW/DEFAULT PEND \$1500	
LE	NO	09:00 AM	FADY PAMELA	HC-14-167	NORTH 1313	14-Jul-15	REVIEW	
LE	O	09:00 AM	RHODES MURRELL	HC-15-226	PARKSIDE 1116	14-Jul-15	REVIEW	
LE	NO	09:00 AM	DIAZ JOSE	HC-13-765	SHERIDAN 1309	14-Jul-15	REHEARING/DEFAULT \$500	
LE	NO	09:00 AM	HERNANDEZ CECILIO	HC-15-468	SHERIDAN 1317	14-Jul-15	REVIEW	
LE	O	09:00 AM	ROBINSON-RADA LISBETH	HC-15-387	SHERMAN 1719	14-Jul-15	REVIEW	
LE	O	09:00 AM	CHRISTIAN BERNICE	HC-15-302	UNIVERSITY 1213 N	14-Jul-15	REVIEW	
PM	NO	09:00 AM	KILLIPS DANIEL	HC-15-221	ASHTON 3708	14-Jul-15	REVIEW	
PM	NO	09:00 AM	SHORT DENNIS	HC-15-297	CORRINGTON 1025 E	14-Jul-15	REVIEW	

PM	NO	09:00 AM	GREEN LINDA	HC-15-489	DELAWARE 2322	14-Jul-15	REVIEW	
PM	NO	09:00 AM	L H PEORIA INVESTMENTS	HC-15-485	DELAWARE 2410	14-Jul-15	REVIEW	
PM	NO	09:00 AM	NEAL/BARNES	HC-14-613	FRYE 1009 E	14-Jul-15	REVIEW/DEFAULT PEND \$1000	
PM	O	09:00 AM	KELLEHER LADONNA/ROBERT	HC-15-064	FRYE 1114 E	14-Jul-15	REVIEW	
PM	NO	09:00 AM	WEEKS DARREN	HC-15-047	KANSAS 1018 E	14-Jul-15	REVIEW	
PM	NO	09:00 AM	RUTHERFORD ROBERT	HC-14-033	MADISON 1320 NE	14-Jul-15	REVIEW	
PM	NO	09:00 AM	DISHMAN AMY	HC-15-598	MARYLAND 1914	14-Jul-15	FIRST APPEARANCE	
PM	O	09:00 AM	KINMAN JUDITH	HC-14-661	MARYLAND 2110	14-Jul-15	REVIEW	
PM	O	09:00 AM	BROCK FLORESTINE	HC-15-488	MARYLAND 2312	14-Jul-15	REHEARING/DEFAULT \$300	
PM	O	09:00 AM	COMBS KENNETH	HC-15-599	MAYWOOD 1101 E	14-Jul-15	FIRST APPEARANCE	
PM	NO	09:00 AM	NELLEY, STEVE/KATHLEEN	HC-15-600	MAYWOOD 1122 E	14-Jul-15	FIRST APPEARANCE	
PM	O	09:00 AM	MCENROE LAURENCE	HC-15-490	MCCLURE 1018 E	14-Jul-15	REVIEW	
PM	NO	09:00 AM	CONSOLIDATED PROPERTIES	HC-15-211	NEBRASKA 1000 E	14-Jul-15	REVIEW	
PM	O	09:00 AM	MAYS DORA	HC-15-254	NEBRASKA 1018 E	14-Jul-15	REVIEW	
PM	NO	09:00 AM	ACKERMAN JASON	HC-14-506	PARIS 1427	14-Jul-15	REVIEW/DEFAULT PEND	
PM	O	09:00 AM	HUDSON WILLIE/MARY	HC-13-500	PERRY 0331 NE	14-Jul-15	REVIEW	
PM	O	09:00 AM	MARTIN SARA	HC-15-403	SENECA 0805 E	14-Jul-15	REVIEW	
PM	NO	09:00 AM	SHORT DANIEL	HC-15-444	SPRINGDALE 2706	14-Jul-15	REVIEW/DEFAULT PEND \$3000	
ROB	C	09:00 AM	ADKINS JAMES	HC-15-618	ANTOINETTE 1900	14-Jul-15	FIRST APPEARANCE	
ROB	C	09:00 AM	BRAGEB LLC	HC-14-626	KNOXVILLE 5720	14-Jul-15	REVIEW	
ROB	C	09:00 AM	SCHIERER/COURI	HC-15-620	WESTERN 0601	14-Jul-15	FIRST APPEARANCE	
ROB	C	09:00 AM	EPW DISTRIBUTION	HC-15-615	WESTERN 0607 S	14-Jul-15	FIRST APPEARANCE	
ROB	C	09:00 AM	JOHNSON FLOSSIE/LEO	HC-15-623	WESTERN 0733	14-Jul-15	FIRST APPEARANCE	
ROB	C	09:00 AM	ZOOK ROBERT/VICTORIA	HC-15-619	WESTERN 0801 S	14-Jul-15	FIRST APPEARANCE	
ROB	C	09:00 AM	ABDEL-RASOUL	HC-15-621	WESTERN 0913/0917	14-Jul-15	FIRST APPEARANCE	
ROB	C	09:00 AM	VFW POST 8662	HC-15-617	WESTERN 1111	14-Jul-15	FIRST APPEARANCE	
ROB	C	09:00 AM	CENTRAL CHURCH OF GOD	HC-15-616	WESTERN 1301	14-Jul-15	FIRST APPEARANCE	
SCA	NO	09:00 AM	ANDRADA WILMER	HC-15-580	GARDEN 2508	14-Jul-15	REVIEW	
SCA	NO	09:00 AM	PENN TERRACE TOWERS	HC-15-484	PEORIA 1505	14-Jul-15	REVIEW	
TA	O	09:00 AM	SIDNEY-WALKER VERONICA	HC-15-593	ARCADIA 0732 E	14-Jul-15	FIRST APPEARANCE	
TA	NO	09:45 AM	CULLINANA/BAPTISTE	HC-15-247	ARCHER 0308 E	14-Jul-15	REVIEW	
TA	NO	09:00 AM	STRATEGIC VENTURE	HC-15-596	ILLINOIS 0600 E	14-Jul-15	FIRST APPEARANCE	
TA	NO	09:00 AM	MESSIAH PROPERTIES LLC	HC-15-595	ILLINOIS 0610 E	14-Jul-15	FIRST APPEARANCE	
TA	NO	09:00 AM	JPC PROPERTIES	HC-15-624	KANSAS 0723 E	14-Jul-15	FIRST APPEARANCE	
TA	NO	09:00 AM	JPC PROPERTIES	HC-15-597	KANSAS 0725 E	14-Jul-15	FIRST APPEARANCE	
TA	NO	09:00 AM	CONSOLIDATED PROPERTIES	HC-15-594	THRUSH 0710 E	14-Jul-15	FIRST APPEARANCE	
WD	C	09:00 AM	SCHEPKE JOSEPH	HC-15-436	ADAMS 2003 SW	14-Jul-15	REVIEW	



SITE PLAN REVIEW BOARD AGENDA

Plans Distributed: July 6, 2015

Comments Due: July 13, 2015

Project ID	Address	Project Type	Project Description
15-163	2200 W War Memorial Dr 14-30-201-002	PZ Commission - Plat Admin	Northwoods Mall Plat - Council District 4 - KS
15-165	1909 N Ellis St 14-33-352-007 to -009 & 14-33-352-012 to -016	PZ Commission - Special Use	Plasma center building addition and parking lot expansion - Council District 2 - ST

Staff Contacts:

Name	Leah Allison	Jide Giwa	Josh Naven	Kimberly Smith	Shannon Techie
Initials	LA	JG	JN	KS	ST
Phone	494-8667	494-8611	494-8657	494-8612	494-8649
Email	lallison@peoriagov.org	ogiwa@peoriagov.org	jnaven@peoriagov.org	kismith@peoriagov.org	stechie@peoriagov.org



**PLANNING & ZONING COMMISSION
THURSDAY, AUGUST 6, 2015
CITY HALL, ROOM 400 – 1:00 P.M.**

AGENDA

- 1. CALL TO ORDER**
- 2. ROLL CALL**
- 3. APPROVAL OF JULY 7, 2015 MINUTES**
- 4. REGULAR BUSINESS**

Deliberations will be held at the end of each case after public comment has been closed. No public comment is allowed during deliberations.

CASE NO.
PZ 15-31
*Continued from
7/7/15*

Public Hearing on the request of Desmond Curran of River Trail Drive, L.P. and West Point Builders and Developers, to rezone property from R-3 (Single Family Residential) District to R-8 (Multi-Family Residential) District, and for a Multi-Family Plan, with possible waivers, for the property located at the foot of Morton Street (part of 18-03-382-003), Peoria, IL (Council District 1).

CASE NO.
PZ 15-35

Public Hearing on the request of Bremen Development, Inc for approval of an Annexation Petition and Annexation Agreement and to rezone property from a Class R-3 (Single Family Residential) District to a Class A-1 (Agricultural) District for the property located north of Parcel Identification No. 08-35-300-030, south of Parcel Identification No. 08-35-100-025, west of Parcel Identification No. 08-35-300-026, and east of Orange Prairie Road. The property is identified as Parcel Identification No 08-35-300-037, with a temporary address of 9600 N Orange Prairie Road, Peoria, IL (Council District 5).

CASE NO.
PZ 15-37

Public Hearing on the request of Rod Hamby of Overland Properties, to rezone property from the R-3 (Single Family Residential) District to P-1 (Parking) District, for the property located at 1911 W. Martin Street (18-07-432-016) and 205 S. Western Avenue (18-07-432-010), Peoria, IL (Council District 1).

CASE NO.
PZ 15-38

Public Hearing on the request of Michael Cochran of Austin Engineering Co., Inc. for RRCO Rentals, LLC, to obtain a Special Use for a blood plasma donation center and associated building addition, in a Class C-N (Neighborhood Commercial) District, for the property located at 1902-1912 N Sheridan Road (PIN's 14-33-352-009 & -008), Peoria, Illinois. (Council District 2).

CASE NO.
PZ 15-39

Public Hearing on the request of Desmond Curran of River Trail Drive, L.P. and West Point Builders and Developers, to subdivide property, with waivers, located at the foot of Morton Street (18-03-382-003), Peoria, IL (Council District 1)

- 5. CITIZENS' OPPORTUNITY TO ADDRESS THE COMMISSION**
- 6. ADJOURNMENT**